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" # W H " AL |TeEmkx | EAR
(Ba/kg) (1) (Ba/kg) (t)
£ Ly C A 610 319.25
tEHEmEmRZMES (ERET)
15 H % 178 863.72
A IR 7] £ Ly C A 930 | 1,150.45
£ (A C A 322 45.99 980 512.12
B oowm (B Ex£E &)
i3 H xR 1,627 164.46
£ Ly C A 262 30.15 1,725 942.23
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e H) x 342 10.77
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X B BT (= N B )
e H xR 138 1,663.64
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o BEMEEIOL] L. = |[HEHEIVYL] o=
(Ba/kg) (1) (Ba/ke) (t)
o OE M HE % KI5 5 e 263 11.03 263 549.64
hH EHFEILELEE LY 2 — 5 e 396 36.22
£ (A C A 871 197.19
EBMEXEE(EH E)
e H xR 220 | 1,183.52
EBHMEXEE(REH E) e # IR 370 488.03
£ (A C A 472 121.67
RBEMEXEEFE(KRH B)
e # IR 169 150.75
EBMEXEE(EH E) 15t A0 73 370 40.97
REMEEXEFE(KRHF R) =4 Ly C A 820 | 1,024.04
EBHMEXE(KEH E) 5 iE 562 7.24
RBEMEXEHE (BB ER) 5 e 670 | 2,969.67
RMEXE (B EER) 5 e 2077 16.90
RMEXEE(EZ &) 5 e 1,180 10.28
EMEXE (BEIIER) i3 H xR 181 27.84
ERMEXHE (BEIINER) 5 iE 500 53.20 500 909.41
REME£XEHE (L 3E) e H) x 119 2.83
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